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Q1 Answers M
1 m+ 1—4m-2+4m -6 =0; m = 3 then A(4;7,8) 1
9 4=2t; 7 = 5t — 3; 8 = 4t thus t = 2 unique value,hence, A belongs to (d) Y,
2t — 10t +6 +8t -6 =0. So (d’) is included in (P).
Xx-4 y-7 z-8
3a m.(V/\V')=O 11 2 21]=0; 2x-z=0:(Q) 1
2 5 4
3b | NN'=2+0-2=0 ;(P) L(Q) 7
Be(d) and(P)_L(Q)and as (d’) is the intersection line of the two planes (P)and (Q)
3c |Xg —2yg +225—6| 3 1
hense: d(B;(d"))=d(B;(P))="2——=2_—8 1-"_1
Q2 Answers M
la | Z+i= i1 2221 1421 b (242 42) =142 1
zZ+2
1b | |z'+i|=AM";|z+2|=BM AM'xBM = |z’ +i|x|z + 2| =[1+ 2i| = /5. 1
lc | M eC(B;l) :BM=1; AM':\/gand M' moves on the circle with center A and radius /5 . Ys
23 z:—2+iy;z':3+i_y_1 1
y y
2b | Z'isreal ; Im(z")=0 ;-y-1=0 then M(-2;-1) Yo
Q3 Answers M
1 11 1
P (N/A)= 5 P(NNA) = P(A)xP(N/A) = EXE:Z' 1
1
P(N) = P(NAA)+P(NAA) =2+ 122 . pamny= PACN) _1/4 2 1
4 8 8 P(N) 3/8 3
2 2
P(E) =C—§+C—§:£. Yo
C, C; 15
2 The outcomesof Fare: (1and2)or(land4)or(2and3)or(3and4),
1%

P(F) =

C,xC+CyxC+CyxC+CixCy 3 P(V_)ZP(FHE)_ P(F) _ 9
5 E p(E

C2 (E) “1-p(E) 13’
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Answers

g'(x) =1+ €* > 0 for all x hence g is strictly increasing over

IR.

g'(x)

g(x)

.oo»—-'"—

____-'+N

g is strictly increasing over IR and g (0) = 0.
If x< 0 then g(x) <0. for x >0 then g(x) > 0.

lim (x —2)e*

lim f (x) =*2>=———— =0.The x-axis is an asymptote to (C) at -0

X lim (1+¢%)

X—>—00

f@){xa):;ﬁZE.

(C) is below (d) for x >2 and (C) intersects (d) at x=2.

Hence, (C) is above (d) for x <2,

ﬂnﬂmz+wﬁmﬁu}%w4ﬂzﬁm%§:0

So the line with equation y = x-2 is an asymptote to (C) at +oo.

F100) = [e" +e* (x—2)][1+ ex}—eX (x—2)e*
(1+e*)°
_ef(x-1+€")  e'g(x)
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Since f(2) =0 henceh'(0)= — =
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